Arts & Humanities

1)

2)

3)

6)

7)

8)

is the second largest country in the
world by area.

A) Russia

B) Canada [Correct]
C) China

D) India

Which of the following is Russia's important
landmark and national symbol?

A) Great Wall

B) Eiffel Tower

C) RedSquare [Correct]

D) Statue of Liberty

Yen is the currency of which country?

A) Canada
B) Japan [Correct]
C) Russia

D) Indonesia
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The Indian Muslims celebrated the 22" of
December 1939 as:
A) Forward block day
B) Deliverance day
C) Victory Day
D) Independence Day
In the common cash assets of India, the
share of Pakistan was declared:
A) 550 million rupees
B) 650 million rupees
C) 750 million rupees
D) 850 million rupees
The average of 5 students is 12 years. If the

sum of the ages of 3 students is 42, then what
is the average of the remaining 2 students?

[Correct]

[Correct]

A) 9years [Correct]
B) 18years
C) 15years

D) 13years

9) Irfan Khan got 6 wickets for 14 runs. Find

average runs for each wicket.

A) 2.33 [Correct]
B) 3.22

c) 3.7

D) 2.73

Read the passage below and answer Q10-11
DIRECTION: The current population explosion
could yield devastating problems in the future.
The world’s population is rapidly outgrowing its
limited food supply, and famine is a serious
problem in many countries. In addition, inflation
would be so intense that even people of higher
income groups would not be able to buy
sufficient food. The hungry would grow and their
anger would cause riots to break out. Eventually,
countries would begin looking to neighbouring
lands for natural resources and food. And finally,
with humanity’s full military power unleashed,
civilization as we know it would cease to exist.

10) The paragraph discusses

A) the causes of wars and inflation

B) the potential implications of the rise in
population [Correct]

C) the evil side of human life

D) the loss of natural resources

11) The most serious threat that humanity faces

due to overpopulation is

A) limited food supply

B) famine

C) the destruction of civilization
D) seizure of lands

[Correct]

12) ASSENT: DISSENT

[Find a similar relationship as the words in
capitals]

A) strong: powerful

B) arrive: reach

C) pass: qualify

D) innocent: guilty [Correct]

13) ENTERPRENEUR : INVESTER

[Find a similar relationship as the words in
capitals]

A) capital: money
B) mint: treasurer
C) hot: cold

D) wise: dull

[Correct]

14) Choose the word nearest in meaning to

“WAIL”:

A) try

B) cry [Correct]
C) play

D) clay



